
115
th Eigenvector

Ne = 4 s = 0 ms = 0

Irred. Representation : Γ3,1

E115 = −J + U + 10W − 2 cos (θ1)
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|Ψ115〉 = |4, 0, 0,Γ3,1〉
= C115,1 (|0022〉 + |0220〉 + |2002〉 + |2200〉)
+ C115,2 (|0202〉 + |2020〉)
+ C115,3 (|02du〉 − |02ud〉 + |0du2〉 − |0ud2〉 + |20du〉 − |20ud〉 + |2du0〉 − |2ud0〉

+ |d02u〉 + |d20u〉 + |du02〉 + |du20〉 − |u02d〉 − |u20d〉 − |ud02〉 − |ud20〉)
+ C115,4 (|0d2u〉 − |0u2d〉 + |2d0u〉 − |2u0d〉 + |d0u2〉 + |d2u0〉 − |u0d2〉 − |u2d0〉)
+ C115,5 (|dduu〉 − |duud〉 − |uddu〉 + |uudd〉)

C115−1 =
t
(

3(J + U − 2W ) − 2
√

3 cos (θ1)
√

A1

)

3
√

3

C115−2 =
2t

(

2
√

3 cos (θ1)
√

A1 − 3(J + U − 2W )
)

3
√

3

C115−3 =
4cos2 (θ1) A1 − 3(J + U − 2W )2

12
√

3

C115−4 =
3(J + U − 2W )2 − 4 cos2 (θ1) A1

6
√

3

C115−5 =
t
(

3(J + U − 2W ) + 2
√

3 cos (θ1)
√

A1

)

√
3

N115 =
√

4C2
115,1

+ 2C2
115,2

+ 16C2
115,3

+ 8C2
115,4

+ 4C2
115,5


